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a) y=x24+6x+5 [y=x?] b) y=2x2—8x+9 [y =2x?]

) y=-x2+5—-6 [y=-x7] d) y=-x—3x> [y=-5x]
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a) y=x2-2 (0<x<3) b) y=x2+2x-3 (-1<xZ2)

d) y=-—x2+4x (-1<x=Z4)

1 1BOR(T 80 AD@e%Z, 11B(CDE 100 BTidE, 8 800 1BDED LIFHHD, BUELIT
Z9NE, Bl 10 AD@ELIFICDE, 100 @DEST. TN LTI TDEEZONDEND. Fla
ZEANICTDICE, FizO<SICTTNELOD.

HDOI—AVBFI-—VEDT—F—F, AMCHDI3vEITRII—(CS—XVBZT—T
VEEDIHOEDDERFILCWD. COY3vEYTRIYI—ICES—XVERES, S—AIANDRE
FdE%Z p (M) ELILEE, 188D D(p) =500—1p (2L, 0= p £1000) EWVSEEREIM
TS5Z26ND. I, S A ZEDERRIAHESZSHTHLDOEL0BTHDETD.

a) D—AVEDHNHE n Z@18 p DBRE I1(p) ELTKRE.

[2(CH<]



b) BI7ZEKCTDICHICES X% 1 FW<OTHRNUELWES DD

c) EOBRDENCERELTRLIC 120 HAZLDRCNEESENETD. CDEE, S—XY
BOA—F—FZDI3vEY TS - [CEES —TVIRELEDDH.

IRDFRIER(T.

a) 2x2+7x+3=0 b) 4x?>—12x+9=0 c) x>243x—-2=0

d) 3x2-5x—-2=0 e) x2-2x+5=0 f)
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a) x24+4x—-12<0 b) 2x>24+x—-62>0 c) 2x2—-x<0

d) 6x24+10x—4>0 e) x(x—8) > 12x —100 f) x2—x+1<5x-38
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